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Section-1
GROUP-“A"

Configaration of an UART in senal commmmication has
a. clock signal b. bawd rate, stop bit, data length . bath d nons

Deadlock happens when two processes wanting for the resouwrces used by each other; n this condstion
a. both processes know that they are waiting for each other

b. one process knows that other is waiting

¢ botha andb

d. none

Fhysical memeory location in ninnmg program is resclved by
a. Imker b compiler ¢ loader d. ne

Task switching is switching between
2. processes b. threads ¢. concumrent part In same program d. all

In 2-pass compiler

a. identifier can be weed without s declaration
b, identifier should be declared before its first use
<. both

d. nome

The difference between functional’srdinary SDLC and object-onented SDLC iz
a. i functicnal SDLC, the d.x:'.'elnpm:nl tome 12 more than de—:iﬂ:.limz

b. in object onented SDLC, design time 15 more than development tume.

c. both

d. none

Whach of the fpll-n-w'ms 15 ot a bus-interface for a mi-;:npmc:ﬂnr’."
a. ISA b. AGP c. PCI d. ICE

Which of the following staternents is trae for structure?
4. 3 stnechare can contain a pointer to itself,

b. sruciure can be compared

. bath

d. none

Which i= not defined as codds nole of EDBMST

a. comprehensive data sub-language s b. view updates

¢, physgcal data dependency d. integnity dependency

Encryption means

4 text to cipher b. cipher to text . both d. more

In micro-processor, over clocking will result in

3. overheating b. malfunctionmg . both d. none
Caché iz

a RO b BAM e. FROM d EFROM

Uhux o5 mnplements two types of pipes, one 5 formatted and the otheris

a. low level pipes b. highi level pipes c. middle level pipes d. mone

Which of the following remaings n memory temporarily?

a. Resident portion of COMMAND.COM b. Transient pertion of COMMAND.COM
c. APl d. Disk BIOS

If the tirne quartum iz too large, Fownd Bobin scheduling degensrates to

a. Shortest Job First Scheduling b. hfubtilevel Quens Scheduling

¢, FCF3 d. Mone of the above

Transponders are used for which of the following purposes?

a. Uplinking b. Dovmbnking c. Bath {a) and (b) d. Mone of the abowve
The format speafier "-2ed” 15 used for which purpose mC?

a. Left justifymg a stnng b. Right justifying a stnng

c. Removing a string from the console d. Used for the scope specification of a charf] varable
Virtual fumctions allow youto

a. Create an amay of type pointer-to-base-clazs that can hold pointers to defived  classes
b. Create functions that have no body

¢, Group objects of dafferent classes so they can all be accessed by the same function code
d. Use the same function call to execute member functions to objects from different classes

A sorting algonthmm which can prove to be a best time algorthim in one case
and a worst time algonthim m worst case is
a. Chock Som b, Heap Sont c. Merge Sort d. Insert Som

Banker's algonthem for resource allocation deals with
a. Deadlock prevention b. Deadlock aveidanee ¢ Deadlock recovery d. None of these

Which of the following commumications kmes 15 best suted to mteractive processng apphcatons?
a. Namewhand channels b. Samplex channels . Full-duplex channels  d. Mixedband chanmels

What i= the main fumetion of 2 data nk content monitor?
a. Te detect problems m protocels

b, Te determme the type of transmussion used in a data bnk
c. To determmane the type of saitching used n a data hink

d. Te detenmine the flow of data

Which of the following memories has the shonest access tme?

a. Cache memory b. hagnstic bubble memory c. Magnetic core memory d. Ak

In which of the following page replacernent policies, Balady's anomaly ecours?
a_FIFQ b LEU e. LFIT d. MRU

After execution of CMP, 2 mstruction in Intel 8083 mucroprocesser
a ZF is set and CY is reset. b. ZF is set CY iz unchanged
c. ZF is reset, CY is set d. ZF is reset, CY is unchanged

. In a cemam society, there are two mamage goups, red and brown. Ne mamage s permatted within a group. On mamage, males become part of thelr wives groups; women
remam m thew own group, Children belong to the same group as then parents, Widowers and divorced males revent to the group of thew bth. Mamage to more than one person

at the same tume and mamage to a direct descendant are forbidden

A male bom inte the brown group may have

a. An urels i sithey prawup b A brown daughter

€. A browm son d A son-n-law bom mto red group

A parallel plate air-filled capacitor has plate area of 10 mf and plate separation of 10 m. It is connected to a 0.3 V, 3.6 GHz source. The magnitude of the displacement cusrent

is (&g =1/36p x 10 Fim)

a 10 ma b. 100 ma e 10A d. 1.50 m&

The phase velocty of an electromagnetic wave propagating m a hellow metalbc rectangular wavegude mthe TE;y mode s
a. equal to its group velooity b. less than the velocity of Bght in free space

¢ equal to the velocity of Bght in free space d. greater than the velocty of light in free space

Moize with umform power spectral density of M;W/Hz 15 passed through a filter H (o) = I expijwty) followed by an ideal low pass fiker of bandwidth BHz, The cutput noise

power m Watts is
a. 2M:B b 4MN:B c. eM:B d. 16 M;B

The cascads armphifier is 3 multi-stage configuration of
a. CCCB b. CE-CB c. CB-CC d. CE-CC



